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Classical Greek Verbs: Practice with Present, Imperfect and Future
Activity 2 – Verb practice in translation

The focus throughout these exercises should be on looking for the correct form of the verb, and recognising why it is the correct form. Once students have completed the exercises in pairs, they will be asked to review the answers as a class, and should be ready to explain why they have chosen the answer they have selected.

Exercise 1: Complete the following sentences with the appropriate verb, and then translate the sentence. 
	ἐπιπτον
	 ἐπιπτεν 
	πιπτετε

	
	
	

	ἀγουσι
	ἀγει 
	λεγουσιν

	
	
	

	ἐτρεχον
	ἐτρεχε 
	ἐπιπτετε

	
	
	

	ἐχει
	ἐχετε
	ἐχομεν


(a) ὁ ἱππος 
 εἰς τον ποταμον.
Translation:



(b) οἱ στρατηγοι 
 τον στρατον.
Translation:


(c) ἡ κορη οὐκ 
 προς την οἰκιαν.
Translation:



(d) ὁ θεος οὐκ 
 την τιμην.
Translation:



Exercise 2: In these sentences there are a number of mistakes. Correct any errors, translate the sentence and be able to explain why they were incorrect.
(a) ὁ ἱππος πιπτουσιν εἰς την θαλασσαν.

(b) οἱ νεανιαν οὐ μενουσιν ἐν τῃ οἰκιᾳ.

(c) ἡ θεα ἐμενον ἐν τῳ ἱερῳ.

(d) τον θεον ἐχει της τιμης.

(e) τους ἱππους ἐτρεχον προς του ποταμου.

(f) οἱ ἀνθρωποι οὐκ ἠθελε τρεχει προς την ἀγορας.

Exercise 3: Translate the following sentences into Greek.
(a) The army goes into the market place.


(b) You are not stopping the horses.


(c) The generals were leading the army towards the river.


(d) The man will stop the battle.


(e) The gods were not running towards the trees.


(f) Men did not sacrifice horses to the gods.
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